BLIDN2RO

Single sided safety barrier

INDUSTRIAS

DUERO

BARRIER

700 120

|| TRAFFIC FLOW ||

6000

- -
|

FRONT VIEW
(without scale)

6000

- -

TOP VIEW
(without scale)

TRAFFIC FLOW
L 6000 |
BACK VIEW
POST 1500 (without scale)
INDUSTRIAS DUERO m:gtuo m
i : Gonzalez Davila, 1. 28031 Madrid (Spain) e T
www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 \)o we

duero@industriasduero.com




)
BLIDN2RO 12m END TREATMENT TO GROUND

Single sided safety barrier DUERO
A~ g
O e e R % W O o o T —y——— GROUND
S et &
i i i i i I e ;%5
H w [[ H H ” | H ”
L
A - B! ) | ! |1
]
6000 6000 1997 J» 1997 l 1997 _‘_ 1997 J_ 1997 J_ 1997 _‘
L STRAIGHT SECTION OF THE ROAD L 12 M END TREATMENT A
USUAL ASSEMBLY s END TREATMENT ASSEMBLY 7 END TREATMENT ASSEMBLY " END PIECE
(AS SECTION A-A) (AS SECTION B-B) (AS SECTION B-B)
= pY — 7 3 "y : b I 7
o — I S { I . W— I SN S
BARRIER JOINT - TRAFFIC FLOW

SECTION A-A
SECTION B-B

BARRIER BOLT M10x40 HH
2XRECT. PLATE 100x35x5 D12
: NUT M10 BARRIER BOLT M10x40 HH
M
& 2xRECT. PLATE 100x35x5 D12
o | I _ NUT M10
o |
= : } BOLT M16x30 RH g %
| NUT M16 > |
t L\ WASHER M16 || BOLT M16x30 RH
P 4, Y7 NUT M16
"""""" WASHER M16
POST POST
INDUSTRIAS DUERO — Py
i H Gonzalez Davila, 1. 28031 Madrid (Spain) e F—2
www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 e % j

duero@industriasduero.com




-
BLIDN2RO

INDUSTRIAS JOINTS
Single sided safety barrier DUERO

BOLT M10x40
HEXAGONAL HEAD

S Recrpuae

— - 100x35x5 D12

/ NUT M16

g —WASHER M16
" VAR /

- BARRIER

BOLT M16x30
ROUND HEAD
POST 1500
INDUSTRIAS DUERO egano sr] SR
i : Gonzalez Davila, 1. 28031 Madrid (Spain) " ? NNt 2
www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 = = e
duero@industriasduero.com et e




-
BLIDN2RO o ASSEMBLY (I)

Single sided safety barrier DUERO

FRONT ASSEMBLY

LIST OF COMPONENTS (6 M)
ELEMENT QrY. | NAME [ DESCRIPTION
1 1,5  BARRIER 2-WAVE BEAM 2 MM x 4000 (5 HOLES)
2 ‘ 1 POST |C120x68x18x4 L=1500 MM
3 1 BOLT M10x40 HEXAGONAL HEAD - 1SO 4017
4 2 |RECTANGULAR PLATE /100x35x5 D12
5 1 'TUERCA M10 'HEXAGONAL - 1SO 4032
6 12 BOLT M16x30 'ROUND HEAD
7 12 WASHER M16 [FLAT - ISO 7089
8 12 NUT M16 HEXAGONAL - ISO 4032
Gonzél IBI F)L'J|ST1RIzAs;So:E~)1U|\|3|Ro|o id (Spain) s Y .
: : onzalez Davila, 1. adri pain il (T
www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 i W

duero@industriasduero.com




-
BLIDN2RO o ASSEMBLY ()

Single sided safety barrier DUERO

BACK ASSEMBLY

(1)

LIST OF COMPONENTS (6 M)

ELEMENT Qry. | NAME DESCRIPTION

1 1,5  |BARRIER 2-WAVE BEAM 2 MM x 4000 (5 HOLES)

2 1 POST C120x68x18x4 L=1500 MM

3 1 |BOLT M10x40 |HEXAGONAL HEAD - ISO 4017

4 2 |RECTANGULAR PLATE |100x35x5 D12

5 1 |TUERCAM10 HEXAGONAL - ISO 4032

6 12 [BOLT M16x30 |[ROUND HEAD

7 12 |WASHER M16 |FLAT - 150 7089

8 12 [NUT M16 HEXAGONAL - ISO 4032

INDUSTRIAS DUERO —
P : Gonzalez Davila, 1. 28031 Madrid (Spain) "

www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 Y

GALVANIZACION

duero@industriasduero.com




